Urnik 2023/24

l.a mat mat slo ang ru nem geo
1.b ang slo Svz mat mat geo nem
éqﬁ) 2.a lat ang nem bio Svz fiz kem
= |2b Svz Svz fiz kem nem bio slo
% 2.c kem fiz ang nem bio Svz Svz
() 3.a slo mat bio gvzM° zgo kem ang
g 3.b mat slo geo ang kem zgo DSD
O |4a | . 280 mat slo/vik slo/vik nem ang
fiz/geol/ - -
4.b slo/vik slo/vik mat nem ang zgo
nl/nOV . -
4.c nem ang zgo ang slo/vik slo/vik
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l.a inf/lum inf/lum kem bio Spa/lat fiz slo
1.b bio kem inf/lum inf/lum fiz slo Spa
2.a slo nem 280 ru mat geo ang
x 2.b Spa slo geo zgo ang mat Svz
&) 2.c nem Spa slo geo zgo ang mat
fe) 3.a psi fiz lat/Spa vik vik mat slo
+ 3.b fiz ru psi/fil Spa nem slo mat
4.a slo slo si/fil an 2
: psi/ — $3/biol/ geo2/
4.b ang fil mat Svz/ru ; n2/zgo/ ao1
- ” kem/psil . .
4.c fil ang $vz/ru mat bio2/psi2
1 2 3 4 5 6 7 8
l.a Svz Svz slo ang nem mat zgo
1.b nem geo ang slo mat zgo ru
2.a kem fiz mat Svz bio gla slo
© 2.b --- bio nem mat fiz kem gla
© 2.c gla mat kem fiz slo bio
8 3.a ru ang slo nem geo zgo mat
» 3.b ang slo Svz bio nem mat 280
4.a nem an zg0 mat
avz/ g g £1/n0V/
4.b mAV1/ ang 280 mat slo .
geol/fiz
4.c mCV 280 slo slo mat
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l.a inf geo bio Svz vik vik
1.b Svz svz bio vik vik inf ---
2.a slo lat nem vik vik ang mat
4 2.b slo vik vik ru nem mat ang
() . .
+ 2.c nem slo ang ru mat vik vik
E 3.a nem kem fiz ang geo lat/Spa mat
>Q 3.b kem vik vik mat ang geo Spa
4.a bio2/ slo ang nem mat -
4.b | psi2/a02/ ang slo slo nem n3 /blo.l/ mAV2
) kem/psil
4.c fiz nem mat ang slo
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l.a mat kem fiz slo zgo ang Spa/lat
1.b kem mat Spa fiz ang slo zgo
2.a --- zgo mat geo nem slo Svz
i 2.b mat ang zgo nem slo Spa geo
g 2.c Svz mat geo zgo Spa nem slo
() 3.a psi Svz svz bio slo nem DSD
Q 3.b nem bio psi/fil slo Svz Svz fiz
4.a slo mat si/fil svz/ru
4.b mat fil psI{) ne/m psi2/zg0/32/ aV1/mA0/
- . geo2/bio2 mCO/nV
4.c fil slo nem mat
URE 7.20-8.05 810-8.55 9.00-9.45 10.05 - 10.50 10.55 - 11.40 | 11.45-12.30 2o 1350-1435




